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mEME | @mzEa || B & |#B| %2 R | AREM | BEs =
S22. 4. 5|FE1EHK—FE E&  IE— 48 \EE 1,541
- HhAt = 70 \|ATE 1,417 75.38
- K IERER 65 \EE 1,158
S22. 4. 7w REIE | & Ea IE— 48 \iE (BIZE) —
S26. 4. 23 EEAET | & E7 IE— 52 ®BE 3,387 96.34
% mH G 53 ®mE 2,469 '
S30. 4. .30 EHET | & B %Ha 61 ®BE 6,819 9058
% E& IE— 56 ®miE 3,240 '
S34. 4. 30 EEET | H He A 65 \EE (BIRE —
S38. 4.30| EHAET | & B %HA 69 ®BE 11,016 00,35
3 IR B 44 | BHRER 2,801 '
S42. 4 28] EEAET | H He A 73 \EE (BIRE —
S 46 . 4 25| FHAET | & BEAx =—- 57 | BHRER 11,417 9171
% HMA =B 44 ®iE 8,183 '
S50. 4. 27 {EEIET | & BEAx =- 61 | BHEER 17,400 90,09
% WE Es 34 | BAEER 4,187 '
S52.12 18] 3% 1= | % EiE S 51 'R 14,448 20,87
% aH T 61 'R 6,986
S56.11.22| {EEAGET | & JEiE = 54 \|E 14,596
% AR =B 55 \|E 7,530 78.48
% mE B 59 \|E 441
S60. 11 17| {EEET | & RiE = 58 \|E 17,312 65.49
% e E— 60 | BAXER 3,805 '
HJt 1119 F8ET | & EiE S 62 'R 15,278 5709
% FE #Bz 60 ®|E 5,908
H 5.11 21| E8&ET | & &R HE 47 EAE 16,874 64.95
% EiE S 66 ®|E 10,813
H 9 11.16] F#8&ET | & EK f#F 51 ®mAE 13,355
% &R Hf% 51 ®mAE 10,436 68.85
% R pi: 58 ®|E 5,209
% = 73 65 ®|E 3,392
H13 . 11 . 11| F8ET | & EK #B=x 55 ®mAE (BIRE) -
H17 .11 13| EH8ET | & hE  HEiE 59 |E 18,146 60.78
-3 2K #B=x 59 \|TE 13,971
H21 11 .15 {F8ET | & [REH i 57 |ATE 19,449 60.63
% by 63 ‘R 13,195 '
H25. 11 17| E#ET | & REH B 61 idil=s (EER) —
H29.11.19] F#8ET | & [RH n 65 ®AE (BIRE) -
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